A

E R

FESWUZNRBERICE=D3E

H{110M

i

1. ZFx¥& (18I2F)

ENEE <hmimm| SC2Ee % =
ENiE 871 788
EiE2 947 863
EiES 1,014 928
E#E4 1,072 985
=N iS5 1,125 1,040
2. BEE (THICDE)
BiEE | 515 | 1,728 [tH4%mEICHLTERIEERY
3. BEE (1HIZDE)
BECIAR) | 1,720 [BooftEat HEMBICHLCERNEEHY
4. nEHE
1. WEMEI-I 60-30(1HIz>= (AFALYI0AR)
2. BEXFEAFIMNE 20 | AFREEIZ1E
3. AFRRIRIMEEME 450-480|1EI%FRE (AR FEBHB08LAXITAREK7 B LK)
4. EFrEFESRIBHMEL - I 500-250(1 BIC1EZRE
5 ANEFFELEEME I1-1 600-400[1EFRY
6. ZASREEETME 300 [1EIRY
7. haREE 362 |[18I-2FE EAHEICRZT(AIZ6EET)
8. REBAEEE 518 [1RIz>Z= BIZ1E(&ZA3AH)
9. A—SFIILFTME 72 |®ET-B45HAT~31 Bl
160 |ET-H30HRI~4HAI
910 [®E=RAT4A. #A
1,900 [ET=H
10. REEME 6 [1HI-O=cmZRE
11, AEEASENE (D) 110 [1 Blzo=
12, REIRUAVRIEINE 11 [18I1zo=
13. BT REFREENE 70 |1 Blz>Z= (EE&ES)
14, BOMEMNE(D) (D) 400-100|1 BIz>o=
15. BAFBREEENE 200 [1BIcoZ(HRBELELT HE)
16. YNEYF—2avIrx S AU NHEEERME (1) 53 [1BIzo=
17. @EERYNEYT—2a EHE(D) 258 [1ElIIc>% GE3RALLL)

18. BEERHAEFRY/NEYT—SavEH(I) (1)

240-120

1\ZD2F GASBZERE)

19. MY DITEEEEFIFAEME (1)1-0

140-70

BAEICIEERE

20. FhEEEREESEE(D) 480 (1 Bz 2= GEETH108%RE) 18IZ1EH
21. BEIROAVMNE(I) () 3-13[1 Bz >=TUFE3BIC1EEH |

22 BEOXEME I -I-IT 10-15-20(1 BIz>=TLUFE3BIZ1[EIRHE
23 AEMM EHEARRMED) 10 |[1AlzD=
24. RYBEREME 24 |[1BIzD>&
25. Y —ERREHAFER{EME D) 22 [NEBLE ORBDSE N HEEHE180% LI E i 104 LU E35%
26. EEEIR-EEEEXIESKENE (D 51 [1BIzD>&
27. BN EHEARRINE () 60 [1 BIcD>=TUFE3AIC1EIZH )
28. BIAXEREME 280 [1 BIz>=TLIFE3AIC1EIEH ]
29. BN EREEEEMNE 100 [1 Blzo=
30. S E MR EREIERALEME (D)) 10-5[(1BIc>%
5. TNt (F)
1. =8 18Iz
(AR rLAF/FALEL 2200/1540| 7L E - A E
(2) ZANEE 1,100
2. BRRE 220 [SvT— WIS MEEH. 34
3. BB RERM 66 |18 RICOE
4. HEREEERE) 380 [#HH &
5 TEE. TH=ES =&
6. 1VIIIVHFIhiERESE =&
7. WY DRER -EERK EE |V -2 % (1 ykg440MFiA)
8. XEH
(1) FEUGE B RITFHH 1,100
(1) FEER AFRICBE 9 A5 RAE - ZRAVESIBAE 2,200
(2)FRIEEEFUZHES 2,200
B EMREAZEE - MERRAFIEZHE 5,500
(4)ETZHE 5,500

HNEBENBREME (1) - BEMRICY —EXBIMERTS%ERLET

SMeFE8A1HRAE




M A M E R

FESMILE AMREIEER(CET-D5

BH{110M

> W R

w

1. BEXHE (18I2O%)

BN faééﬂgi S woE

BEXiE1 672 632

BEXiE2 834 778

ZiE 902 819

ZMnig2 979 893

ZMi&3 1,044 958

ENiE4 1,102 1,017

ENEES 1,161 1,074

2. BfEE (1HISOE)

wEE 515 1,728 |H&AEICHLTEBIEESHY

3. BE (1HIZDZ)

BECEIARED) 1,720 (882390 - BRE660M - & B670M tH#A &I UEHEESHY
4. MEHE

1. ZdME (FEHY) 184 |EER -ERFDFIRHY

2. BEEME 8 [1BIzoE3EARE

3. A&t mE 50 |1 AIzo%

4. ERUNEYT—LarEEmE 240 [1B(=>%

5 RERRHARZANE 90 |1BIZDE(AFEAS14BERE) XNEFIHBKL
6. REFAEEHE 518 |[1HIZ>E AIZ1E(RX3H)

7. EEREBEME 120 [1BIzD>=

8. HMEEFEHEME 275 [MBIZOE(E#HT210A%RE) 18I121@E
O. MM EHEEARKME (D) 10 [1RI=>%

10. REBEEREMR

24

1HIZDZE

11. —ERBHAHIRIEME (1)

22

NEBE DRBDSENEEULT80% L LEH10FE LI E35%

12. AEER-EEREIEREMNE (D) 51 |1BIzD>%
5. TDfth (M)
1. = 18IzD=

(DEZ=E ~LAt 2,200 |TLE - AEER

(2)E= kL7l 1,540 |FLE - SEEM
(3) ZAERE 1,100
2. BHRARE 220 [roT— EWITSY . WEEH. 5L
3. BREMERAN 66 (1B FRIcOE
4. BEBEEBRSE) 380 |#¥E
5 TE2E& -IT&%=ES% =&
6. 1VIINI Y FRHiERESE -
7. DR EK-EESK EE (V) —=o U w17y kg440MHA)
8. XEH
(1) SEURGE B R1T F 408 1,100
(2) EERARRIZR S BEIBAE - BRAVEIEAE 2,200
QEIEEEFLUDHNES 2,200
HERRBAZHE HERRAFEZHE 5,500
(G)EEZHE 5,500

KN EBELBEREME (D) - - REMBITY —ERFIMEERTS%ERLET

SMeFE8A1HRE










